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2. Consider the following statements :
pib
1. In India, Non-Banking Financial
Companies can access the Liquidity
- - P - .
Adjustment Facility window of, the

Reserve Bank of India.

2. In India, Foreign Institutiona! Investors
can hold _Lhi_:_ Government Securities
(G-Secs).

[ AT
3. In India, Stock Exchanges can offer

separate trading platforms

fDE duhtsB

—'-"'"—-—-
Which of the statements given above is/are
correct ?
(a) 1and2only
(b) 3 only

——
(¢) 1,2and 3~

In Indin, which of the fallowing can trade 1N

Corporate Bonds and Government Securitios
1 Insuranee Companias
& Pension Funds

4 Retndl Inveators

Balect the correct answoer USINE the code given

halow |
im} t-and - d-snly
(b} 2 and 3 only -~

(el 1 and 3 only
m————

= &

.,@ |, 2and 3
ik -

4. Consider the following :

1. Exchange-Traded Funds IETF)

3.

Currency swap

- Anancial
Which of the above is/are considered finant

B —
instruments ?‘I
_:F-_——".
ia) 1only
i
(b) Zanddomly

@ 1. 2and 3 o

2 and 3 only

—

O

KSPC-P-GSPO

(d) 1and3only
—
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5. With reference to the B

ctors ol )
m} 0
onoemy, consider the I“ulluw-u-.;.: Pairs :

i memm' nrfiwr‘r =

-'-"ll'r‘fnr .
Stﬂ ruge. “]‘ =1
agricultur
rﬁ‘a-uaH-r l.er! L!E'I.-\'n“ d.]_l. r1|.

e —

‘,’..-F‘": 2- Dﬂ.llr':f fﬂrm

Primary

g 3. | Mineral exploration

Terti ary

4. ‘W-EEI."-"I[[E doth' . _?;E:_“_EH; i

How many of the pairs given above are

correctly matched ?
—e

(a) Onlyone

Only two
#(c) Only three
(d)  All four

6. Consider the following materials :

1. Agricultural residues
2. Corn grain
3. Wastewater treatment sludge

4, Wood mill waste

Which of the above can be used as feedstock

for producing Sustainable Aviation Fuel ?

(a) 1and2only

(b) 3 and 4 only

(¢) 1,2, 3and4 g

=
1,3 and 4 only *
—
3PC-P-GSPO (5-B)
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With reference (o |hil1.-ll.u| ||L|;|rl.|!. in Indinn
peonomy, congider the following pairs ;
| Mtema |€ ‘ategory
1 F F'IJ mer s "||'||_|‘d'-| 'I' Ii||l,|'|';|r|-l;,|"|.:|'_|: |".'I|:l1|.q"|| I f’.

'y Y s )

”

2. | Computer |E'|.~¢- d eapital -r"‘f*

S ——— — ———
4, ."'r"nrn used by the -ij;l' ixed l'::_l._.lEt_H]._ )

“lﬁ-’nﬂwr ' .

4. |Petrol | Working capital o

How many of the above pairs are correctly

matched 7

(a) Only one

a b} Only two

Only three

idy All four

Which one of the following words/phrases is
most appropriately used to denote "an

mternperahle network off 3D wrtuai worlds

that can be accessed simultaneously by
=4 — —
millions of users] who can rupert!r'

. . - p—
rights over virtual items

(a) Bigdata analytics

[ ]
* (b) Cryptography &
J!hletav /

(d) Virtual matrix e
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9. With re
l eference to the rule/rulos {mpoged | I :
he Reserve Bank of Indig whil iy | 11, With reforence to radicisotope thermoelectre
il 0 . - —
ﬁ'.ll'l:'lgn banks, consider th _lrl'm”'“ generators |RTGa), consider the following
”nlt‘mnmﬁ" = ; following stalements e L
1. Th ! : 1. RTG2 are minlature Nigsion renctors
ero 18 i minimum capital s
rE‘L]u"'L"'I'I“_'l-nt. II'H"' \b,h“"‘ h“‘ I'I.l"qi—‘hu"h.“ :I'-l: IlT"l‘-\- are l]-lu.l-ll 1-||1‘ IH|"..5.||-Iri|L:|¢:_ 1.hi-'- I:Ir'|r_|l_|.|r|:|
subsidiaries in Indlr—' E systeme of spacecrafts
* Ao wholly owned Im“"““ﬂ subsidinri . RTGs ean uge I’Inutrmrnlﬂ'r'-'r-:.éil-iﬂ:]"""'*"'h t
: B — !
in India, at least 50% of the | d i by-product of weapons development
4 J1E Doar - L —
5 T —
members should be Indian nm_,'n Which of the statements given above are
' - correct ?
Which of the statements given above isfare
correct 7 ial 1 and 2 only
-
{a) 1only by 2and3 ”JI'IIF
(b) 2 only c)  dwad-tonly
e} Bothland2 1, 2and 3
@ Neither 1 nor 2
12. (Consider the following statements -
Statement-I ;
Giant stars live much longer than dwarf gtars.
10. With rE-fETEnL‘E to Cﬂl‘]‘lﬂratt‘ Sﬂflﬂl S.i‘ﬂh’ﬂlt'ﬂf-ff s
Responsibility (CSR) rules in India, consider Compared to dwarl stars, giant stars have a
the following statements : : hr-:-utnr rate of nul:leur reactions. b
1. CSR - ify ' ; . .
rules spmlﬁ that Expnndnureq Which one of the following is carrect in
that b t th ; |:l.l
umplm BES W |]l not b& ﬂunsidered ad CSR
e m:h Statement-1 and Statement-11 are
I:"-. :-ﬁ_'_____ EI'.II"I'EET. and ";Lammunt-ﬂ L"T'I[ﬂﬂjnﬁ
2. [ B, les do not ecify mimmum -
e J_ f} Statement-1
spending on CSR activities.
. : (b} Both Statement-I and Statement-11 are
1 ! = o ve 1
Which of the statements given above is/are correct. but Statement-Il does not
v it 7
COTeCt explain Statement-1
/4 1 only (¢) Statement-I is correct, but Statement-1I1
(b) 2only is incorrect
(¢} Both1and?2 (d) Statement-I is incorrect, but Statement-11
o (d) Neither 1 nor 2 18 correct
KSPC-P-GSPO (7-B)
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13. Which one of the "
h following is synthesised 16. In which of the following are hydrogels used ?
uman body that dilates blood v :
increases blood vessels and | Controlled drog delivery in patients
08 . ee—
Now 1 2 Mobile .'|'Jr-1'uTHFi!_ir_lr-l-lF-l.lE systams
‘,'f Nj..tﬁ'-' oxide 4 Prepuration of industrial lubricants
Nitrous oxide Select the ecorrect anawer using the code @iver
balow
@ Nitmﬂ'ﬂ'n dioxide E (m) 1 only
) Nitrogen pentoxide o (D} Lenddoaly
() 2and3donly
@ 1,2 and 3
14. Consider the following activities 17. Which one of the following is the exhaust T“["
: . , l’:'ﬂliﬂ-l!lﬂl'l I"nrm ]h uLI I:_'.Elll E:[l‘ ciric 1'1, i"l_l'll |-I
1. Identification of narcoties on passengers powered by hydrogen ?
at airports or in aircraft =

(a) Hydrogen peroxide

2.  Monitoring of precipitation (b) Hydronium
3. Tracking the migration of animals (¢} Oxygen
Water vapour
In how many of the above activities can the
v ]-storage
radars be used ? 18. Recently, the termm “pumpe
hydropower” is actually and “appropriately
(a) Only one discussed in the context of which one of the
b Only two following 7
} 2 {a) Irrigation of terraced crop fields
@ All three (b) Lift irrigation of cereal crops
{d) None (¢) Long duration energy storage
(d) Rainwater harvesting system
: - S——— |
19. “Membrane Bioreactors &are often discusse
15. Consider the following aireraft : . tHe mntex_t_n_r S —
— s
1. Rafael (a) '!'!LbEIE‘t-Ed repruduttwe technologies
(b) Dru delwa “panotechnologies
2. MiG-29 . ey
- ic) Vaccine prmiuctmn technologies
5 s MK-1 Wastewater treatment technologies
e — .
w many of the above are considered fifth ;
5 : —— 2 20. With reference to the Indian economy,
generation fighter aircraft | “Collateral  Borrowing and  Lending
" “ -q_-EE'q__ —
(a) Only one Obligations™ are truments of ‘
(a) Bond market
Only two
(b) Forex marlr.et
hree
(¢} All three @ Moy market
(d) None (d) Stock market

KSPC-P-GSPQ (9-B)




21.

e
nl'l"-l-:ll:h""r the f|'|Hr|1|l, I ATt

| ]‘ﬂh'l-‘l Palo Adrport
i .

3 Vij

Kushinagar International Airport

W
Avawada Internationa) Airpart

In i
n the recen past, which of the

biwin oo iy
nEtructed as E':T'IH"I'II-I

1‘l|‘| F1h;'|“n'-“|. y
1l and 2 only

'.3' l"ll'ld :i l|1-|'||ll|,.-
cl l and 3 1'Iﬂ].1r

1,2and 3

22.  With reference to “water vapour”, which of the
following statements 18/are correct 7

] It 18 a gas, the amount
decreases with altitude

of which

2 Its percentage is maximum at the poles.
. .
sglect the answer using the code given below :
1 only
{ib) 2 only {

Both—+tand 2 v

Neither 1 nor 2

(]

{d)

23. (Consider the following description :

1.  Annual and daily range of temperatures
15 low, ke

el
2. Preapitation occurs throughout the vear,

3. Precipitation varies between

50 em — 250 cm.
What is this tyvpe of climate 7

-
|~|I

Equatorial L‘[im-:ite.l

(b

China type climate

e

Ifﬂ Humid subtropical climate
N’

-'.c-J ) Marine West coast climate

KSPC-P-GSPO
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26.

(11-B)

With reference to “Coriolia fores”, which of .

r."l”l'l" 1Tl almlEmeriila el fees enpeenet

| i InnEEilEeEs wibl IRETEaRE 1N wIing esloei v

2. Ik is mazimum at the poles and s abeens

al Lho LRLE LA T Laww

Balacl the answer usingg the code given bl
{m} 1 only
b 2 only
@ Both 1 and 2
(e} MNeither 1 nor 2
OUn June 21 every year, which of th.
latitudels) E"'-"-TIIE'rH'r';L'l'I-I A “Tr.l--.'
than 12 hours 7
= —
1 Fquator
2 Tropic of Cancer B

3.  Tropic of Capri

1COTT

4. Arctic | .:I'.'|l:_'

Select the correct answer using the code given
'u--||. 1y s
belos hj_'r:.-‘%l’;’“

'hl . | -.-ll"
(e 3 and 4 — o

() 2and 4

—

One of the following regions has the world's

largest tropical peatland, which holds about

three vears worth of global carbon emissions

from foss

| fuels; and the possible ruction
of wl letrimental effect on the
rinha n omne ot OWINE
den

kori Basin

It e la Plata Basin

A% 5




7. With

reference g
perfluoroalk .
polyfluoroalkyl substances (PFAS) YI and |20, Consider the following plants :
used in nmking man e 1. Groundnut
cotaider the & MAny consumer products,
e following statements - 2. Horse-gram
L. PF T '_"‘ i -
d .A.z aAre fl'll.lﬂd ‘ﬂ I:xl wid'_-.:q'prl.“ll h..l lj hn}lh{l““ e
nnking water, food . . e :
materials. and food Fll':'hl'-l-t‘lnﬂ Hiow many of the +1|m1.-'!-_|‘u-_hmg_[n£1 J._.E‘—l.-i__,j.-
= ¥
2. : .
FFJ’LS are not easily degraded in the () Only one
environment., .
_ @} Only two
3. Persistent exposure to PFAS can lead %o ,}@ B
b e
bioaccumulation in animal bodies,
; (d) None
Which of the statements given above are
correct ?
a1 _and-Zenly
30, Consider the following statements :
(b) 2-and3gnly
--.-"Il-l i J i
(¢) + 1and 3 only e ment-]
. The Indian Flying Fox is placed under the
£3 r &
@ L Zaude fVermin® category in the Wild Lif
(Protection) Act, 1972
Statement-I1
3 an Flving Fox feeds n
. Consider the following : The Indian Flyn e
other animals.
1. Carabid beetles l
1 X " the following 18 OITEeCk
2. Centipedes Which one of the Ning _1 g
respect of the above statements ¥
3. Flies .
(a) Both Statement-1 and Statement-Il are
4, Termites correct ynd Sratement-11 Expﬁ;ﬂﬁi
b. Wasps <~ Statement-|
Parasitoid species are found in how many of (bl Both Stat Statement-Il are
e ————— : —
the above kind of organisms ? correct, but Statement-ll does not
T 5%
S explain Statement-I
(a) Only two
(¢} Statement-l is correct, but Statement-1l
(b) Only three e
15 rrect
(c) Only four d) Statement-I is incorrect, but Statement-11
(d) All five ig correct
(13-8B)
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31. Consider the following statements

-""-*rTI"r'.I':rn'rnr j‘ .

The Atmosphere ja h
. ented mn
solar radiation than hy tﬂﬂtnll:‘:l.lh:é?mw

Statement-J] - —

Carbon dioxide and other greenhouse gases in

the ﬂtmﬂﬂ.Eh{l'ﬂ- A
o] e E-ﬂl
wWave rndiul.mn_!‘ s of long
‘-_—_—I-I—-.

Which one of the followi i
ng is correct {
respect of the above statements 7 .

(n) Both Statement-l1 and Statement-II are

correct and Statement-1I lai
Statement-1 A

ﬂﬂ'l Statement-I and Statement-II are
— correct, but Statement-II does not

explain Statement-I

Statement-1 is correet, but Statement-11
15 incorrect

I"'i'h

(d) Statement-] is incorrect, but Statement-I1
15 correct

=

Consider the following statements

| =ar]

Statemen Ir-IF '
Thickness of the troposphere at the equator is
much greater as compared Lo poles

Statement-II ;

\/

Consider the following

1 Pyroclastic debria
2. Ash and dust

3.  Nitrogen compounds
4. Sulphur compounds

How many of the above are products of

voleanic eruptions 7

{n) Onlyone
(b} Only two
{e) Only three "fr.—\'l.-"”‘t,
@ All four -
34. Which of the following isfare correct

inferencefinferences from isothermal maps n

the month of January ?

: 18 The isotherms deviate to the north over
the ocean and to the south over the
continent. T

9 The presence of cold ocean currents,
Gulf Stream and North Atlantic Drift
make the North Atlantic Ocean colder

and the isotherms bend towards the
north.

Qelect the answer using the code given below

At the equator, heat is transported to great (a) 1lonly
heights by strong convectional currents. % caly
Which one of the following is correct in Both 1 and 2
respect of the above statements ? Neit] o
(a) Both Statement-] and Statement-II are
correct and Statement-II  explains s,
Statement-I 85. Which Lries |
y ag thp 1 ':-!l'lr uceErs 1ii
() Both Statement-l1 and Statement-11 are known .
correct, but Statement-Il does not the worldd#
explain Statement-1 ' Algeria and Moroceo
—m— i
(¢) Statement-I is correct, but Statement-iX 1, Botswana and Namibia
is incorrect 8 " :I'Imp_irﬂ and G
Statement-I is incorrect, but Statement- @ od _
1S correct ) Madagascar Mozambique
(15-B)

KSPC-P-GSPO




36. With refe
e !”"'*ljt‘r.' 0 the 1
AT 1:_"I the {-"'“-HH'H da . tm"mﬂ.lﬂ._ﬂ"_“ rivers
from ' o R 0.
: LT | .|1!I ]‘..lll'l, whlf"h & L of p‘rn_f 0r
SEQUENCES I8 corppct » e of the follow
N I .n“
LAl Crh p
B o NS = Gotnat! - Gang
(.':'-rnnh - Ghnuhnrn - “a“;lh S
] {3 ¥ .
(c :mﬂhurn—uhf-nml.i - Kosi : ! ol
d Gomati - Ghaghary H.n.;'l = Gandak
1= Gandak
97. Consider the ﬁ'l]hlu'mu Slaten
aEmenty -
Statement-[ :
Rainfall is one of the re

of rocks.

Statement-[I -
Rain water
solution.

contains
— e

Statement-I1T :

asons figr wenthering

ca Ll‘r_n_rL_ dioxida

in

Consider the following information

I- Warterfull | Region Hiver
[ !
| | |1.'|]"|'|Lr1111|hur [ Malwa Marmado
| L |
2. |':I1m:lr=| | Chota Qubarnarok
MNagpur
3 'l AT RO PR | Western " Metravat
| | Ghata
In how many of the above rows is Lthe ¢

information correctly matched 7

{a) Only one

@ Only two

(e} All three

R&l.n waler contains atmospherie OXygen,
Which one
respect of the above statements 2

of the following is correct in

Both Statement-II ang Statement-I11
are correct and both of them explain

(el

MNone

Consider the following information :

Statement-] 40,
(b) Both Statement-I _
gre correct. b I and Statement-III Region Name of the |'T_-. pe of
- » but only one of them mountain mountain
explains Statement-I range
ic) ﬂﬂl}’ one of the Statements Il and IIT is 1_ L‘Jﬂﬂ Vosges . Fold mountain
correct and that explains Statement-I Asia '
(d) Neither Statement-II nor Statement-ITI 5. | Europe up Block
18 correct | | mountain
. . . : .“'-.’ h A yalachians | Fold mountain
38. (Consider the following countries : Ji | N ? | Appala
= America | _
5 Ejmidnd 4. | South | Andes | Fold mountain |
.2. "Eman}r America I I
Am | 4 ]
3. Norway //j . = _
4. Russia [/ In how many of the above rows is the given
' nformation correctly matched ?
(f) ﬂ'nljl' one
(a) Only one ~Ih
Only two ¢y Only three
Only three (d)  All four
All four
(17-B)
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. The organisms “Cy
. skater” are ; EIEE“‘ F%ﬂ Wnd Pon
(a) Birds -_—
: ib)y  Fish
¢ (c) Insects
id) Reptiles

43. Consider the following statements -
Statement-I :

considered a source
pollution.

t'hﬂ mll.rkm are
of  environmental

Statement-IT :

Many chewing gums contain plastic

base. B gum

Which one of the following is .
respect of the above statements ? i

@ Both Statement-I and Statement-II are

correct and  Statement-Il  explains
Statement-1

(b} Both Statement-1 and Statement-II are

correct, but Statement-11 does not explain
" Statement-]

i ¢c), Statement-1 is correet, but Statement-11 is
wdncorrect

#d) .Siatement-I is incorrect, but Statement-11
¥ .~ 18 correct

<
-

i, =

43. Consider the following pairs :
Animal found in its
Counéry natural habitat
1. | Brazil Indri
2. |Indonesia Elk
3. iMucfagasmr Bonobo

How many of the pairs given above are
correctly matched ?

44,

Consider the following statements regarding
World Toilet Organization -

1. It is one of the agencies of the United

MNations,

- World Toilet Summit, World Tollet Day
and World Toilet College are the
initintives of this organmzation, to
inspire action to tackle the global
ganitation erisis

8. The main focus of its function is to grant

funds to the least developed countries
and developing countries to achieve the
end of open defecation.

Which of the statements given above is/are

correct 7

i) 2only
(h) 3 only v
(gl 1 and 2

@ ‘.'Jlﬂnd_,']_f

45. Consider the following statements :

1.

Lions do not have a particular breeding
= —e—

BEAS0T.
- el
Unlike most other big cats, cheetahs do

not roar.

e
-

2 Unlike male lions, male leopards do not

territory by scent

proclaim 1 heir

m::rking._t =

of the statements given above are

Which
correct |

" andE_nﬂlg__,
gedbwly

(a) Only one
(b)  Only two
(c) All three
(d) None

}and Samly

| O 1,2and 3

| (19-B)
KSPC-P-GSPO




a1 Million Farmers®?
l tisa Mm
for
transi ards ting the
systoems

(b)

organisations interested in Sinporti
and strengtheni ng the dﬂm— F::f“:

e organic s BT,
'_—t—-—'—:

It is a digital plath -
with serviee providers and } : =

blockchain that lets buyers, selle
third parties trade hﬁﬂh@
and securelyy_ el
@ It is a platform with the mission of
e ————

encouraging the farmers to form Farmer
Product Organisations or Eﬁh busines

Consortiums, thus {AGITatmg the
access to global opén markets to sell

{(e)

their prodicts.

%hinh ane of the following shows a unigue
relationship with an insect that coevolved

with it and that is the o that can
pollinate this tree 7

() Fig . -

(b} Mnahuna

(¢} Sandalwood _

e
Silk cotton |

48. Consider the lollowng :

1. Butterflies

2, Fish

3.  Frogs

How many of the sbove have poisonous
species among them 7

ia) Only ong

id) None

50. Consider the following
1 1 '_-.-:h--'.\,

e

:J- |'.'_ :. '-|.|'|"f

e actually

. Fﬂﬂ-ﬂidﬂ'l'l_:'l.'l |

KSPC-P-GSPO

How many of the above tree:

— ——

native to India ¢
__,_————_
I _—

J’H—:ﬁ‘ | Omly one
m LIT1LY L“
| i ._- m' ) i _F

| id ™ 1) T




EI. l'nng-u.rh-

rthe [
l'nllnwmn_- Statemon s

S lak maent-f - i
There i instalil;
" i h i ;
situation inp the Sllﬂ'ﬂlrl:‘céin:llarmmnu security
Statement.] I:
There have betny i
d'état in sovery| m'l_*“'? takeovers/cay
in the recent meﬂuntnu of the Sahel r.mt-l::
Which one of th
¢ followi i
respect of the aboye ﬂlt::::i? correct in
Both El'.utume
nt-
O o ot st s
E“hﬂ“!ﬂbl ent-I1 explaing
(b) Both Statement-] and Statement-I1 are
correct, but Statement-Il does
explain Statement.| ot
" »
3 is;mimtemmpll I8 correct, but Statement-I]
(d) i?lmﬂnt-l is incorrect, but Statement-11
o4d.
52. Consider the following statements :
Statement-I :
India does not import apples from the United
States of Ameﬁﬂu." x;
Statement-1I :
In India, the law prohibits the import of

Genetically Modified food without the

approval of the competent authority.

Which one of the fdllowing is correct in

respect of the above statements ?

(a) Both Statement-I and Statement-II are
correct and Statement-II  explains
Statement-I

(b) Both Statement-I and Statement-1l are
correct, but Statement-11 does not explain
Statement-l

(¢c) Statement-l is correct, but Statement-II is
incorrect

mt.umenl;-I is incorrect, but Statement-I1
18 correct
(SPC-P-GSPO (23-8)

’ v

With reference te the Speaker of the

While any resolution for the removal of the
Speaker of the Lok Sabha ia

conslderation

under

L.  He/She shall not preside

4. He/She shall not have the right to speak

_—

3. He/She shall not be entitled to vora
the resolution in the first instance
R

LI

Which of the statements given above isfare
correct 7

1 only
T —

(b} 1and 2 only

-—-—d—-——-'-"
(el 2and3 Enlt
@ 1,2ands3

With reference to the Indian Parliament,
consider the following statements :

1. A Dbill pending in the Lok Sabha (apscs
e

- - . "_._._q
on its dissalution.

2, A bll passed by the Lok Sabha and
. —izhin
pEndinE in the Rajva Sabha lapses o

the dissoliition of the Lok Sabha

M

e

3. A bl n

of India

o —

regard to which the President
notified hisher intention to
summon the Houses to a jont sittmg
of the

ipses  on the dissolution

Lok Sabha.

Which of the statements given above 18are

(a 1 only
[[ Idu_uh\“. ] and @ e
Lc) 2 .|I|I.J. 3

.,_]- .'..|:|13f




_ Pa
consider the Fnllnwm" .Mt:“ﬂmant of India,
; Ment .
3 - Eﬁ;ﬂ.ﬁmm" of & Houge by
ﬂ' g 16 ﬂ“l_"‘i‘_ﬂnl-\___ tlm Prl-hipnl

wﬁﬂ of E“—%l.hllb ndvice of

[ '
Dissolution of the Lo

the President of h:“iﬂbhu 15 done by

exceptional cjre
e _ Umstances, does
advice of the Council ul‘Miniﬂ*»::a.nn

Which of the statements given above is/are

» BAVE 1in

Consider the following statements :

Staterment-I :

The FEuropeamn Parliament approved The
Net-Zero Industry Act recently.

Statement-IT :
The European Unjghegntends to achieve
carbon neutrality h}m:I therefore amms
to develop all of & clean technology by
that time.

which one of the following is correct in

respect of the above statements ?
Both Statement-1 and Statement-11 are
correct and  Statement-II explains
Statement-1

Both Statement-I and
correct, but Statement-II
Statement-I

Statement-I is correct, but State
—

(a)

Statement-11 are

(b) G
does not explain

N ment-11 is

incorrect

Statement-I 18 incorrect, but Sratement-Il

id)

67,

Consider the following statements

Statement-1 ;

Recently, Venezuela has achieved o rapid
recovery from Ita ecomomic crisis amid
suceeeded |n preventing it people from
Neeing/emigrating to other countriesys

Statement-I1 ;
Venezuela has the world's largest oj

Which one of the [ollowing is correct in
respect of the above statements ?

ETVER

(a) Both Statement-1 and Statement-I11 are
correct and Statement-Il explains

Statement-l
@nth Statement-1 and Statement-1l are
e

orrect, but Statement-I1  does nol
explain Statement-1
Statement-1 is correct, but Statement-11
is incorrect
gd) Statement-l i3 incorrect, but Statement-1I
is correct

58. With reference to the Digit.‘a.l__lndiﬂ Land
Records Modernisation Programme, consider
the following statements .

To implement the scheme, the Central

1.
Government 1::1'4n‘ideﬁll_'lji'l*.-’p_l\rl-:lirn,;_:ﬁ
2. Under the Scheme, Cadas! ral Maps are
digitised T i
3. An initiative has been undertaker
transliterate the Records ol Rights irom
local language Lo any of the languages
recognized by The Constitution of India,
Which of the statements given above are
eorrect ?
I 1 and 2 onl)
. @ 2 and 4 o1
ﬂi:l 1—'-1;-.1! =t 1]
{d]‘ 1. _'I :_||Il\... i

is correct

(26-B)
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W I.th rﬂ'ﬁ'}r“n{."

to ”“_. 'I_'-'

I M atritvg Abhiy,
following statemg nis l

1. This sche me

Surakshit
T'l'.

“Onsider the

Mantry 81. Consider the following statements regarding
‘Nari Shakti Vandan Adhiniyam'

package of Buarantees A | 1, Provisions will come into effect from the
ANteng h!‘nulﬂ_l.m
WOMen in  the tal care BErvicey 18" Lok Sabha
= imr . 0 .
trimes Second g ;
ters of Pregna fd  third 2 This will be in force for 15 years after

becoming an Act

2 Under this gep 3. There are provisions for the reservation
health ecare pfu::it:j Private gector of seats for Scheduled Castes Women
specialities cap ""'011-1:::&1- of  certain within the quota reserved for the
52:':?].::!:3 at Pia/:»— HOVe :umpa‘;:d“ Scheduled Castes.
facilities. e th

Which of Which of the statements given above are

W c tt: the statements given above iglare correct ?

(a) 1 only fa) 1,2andl

(b) 2only (b) land2only

@ Both 1 and 2
1 Neither 1 nor 2

go. With reference to the Pradhan Mantri Shram

Yogi Maan-dhan (PM-SYM) Yojana, consider

the following statements :

82. Which of the following statements about
B ‘Exercise Mitra Shalkti-2023" are correct ?

ey : L v & = i £ I -._—E
'he entry age group for enrolment in 1. This was a joint military exercis

the scheme 158 21 to 40 years.

2 Age specific contribution sh
by the beneficiaty

3. Each subscriber under the scheme shall
receive & minimum pension of _3,000

between India and Bangladesh.
;—-—'_-_.n -F—-_-___
all be mAEs 2 [t commenced in Aundh (Pune).

3 Joint response during pounter-terrorism

pperations was a goal of this operation.

per mnnﬁ;@_ﬂttaﬂrﬁ the age of 4. Indian Air Force was @ part of this
ED-EE'I'H; gxercise.
A
' .on is applicable to the -
¥ Fmbﬁﬁ:‘ﬂ%;m pgughﬁ Salect the answer using the code given below
spouse m:
Which of the statements given above is/are @ 1.2end3
correct 7 ,
(b) L amitrd
(a) 1,3and4
L,3ands g -

(b) and3only

2ordy

(e
1, 2and 4 !

KSPC-P-GSPO




g A Writ of thihiﬁnn "

Supreme Coyry g, H; AN orde, T—
igh Coyry by the
to
t officey
£ : pro
O taking & particyqy gy 8-
n.
(b) the P iamen
l:h “‘aﬁlll.tlw """Hmhly
Pass a law on thihiﬁnn" & to
the lower e
O i o g ansge
(d)

. M" FTﬂ-h.iblﬁng it from
following An unconstitutional policy,,

g4, Consider the following statements :

1111111111

recognizes and declares any community
of that State as a Scheduled Tribe.
-
A community declared as a Scheduled
Tribe in a State need not be so in

s

another State.

b

U ———
L

Which of the statements given above is/are
correct ?

Fal
r

L e

a5,
With reference to Union Budget, consider the
fnlll:wrihg atatements -

1. The Union Finance Minister on behalf of
the Prime Minister lays the Annual
Financial Statement before both the
Houses of Parliament.

At the Union level, no demand for a grant
€ain be made excopt on  the
recommendation of the President of India.

s B
Which of the statements given sbove is/are
Cirrect 7 de e

{a) 1only
@ 2 only

¢! Both1and 2
(d) Neither 1 nor 2

Who of the following is the author of the books
“The India Way" and “Why Bharat Matters™?

(a) Bhupender Yadav

(b) Nalin Mehta

(e} Shashi Tharoor

(d) Subrahmanyam Jaishankar
87. Consider the following pairs :

[Country | Reason for being in the
| news

Il 1. |Argentina il‘Wurst eCONOMIE CTIELS
i

| 1 |
an | War between the couniry s

——

(a) 1enly i
@ 2 only

(¢) Both1and2

(d) Neither 1 nor 2

KSPC-P-GSPO

=

are

2. |Sudan
| | regular army and
| | _paramilitary forces
| | |
E W | Resd its me '|.|'-'T.'\-t"|
13. | Turkey IRE_'?I:]1:IEJIE'{! its membership
of NATH P 3
How the pairs given above
correctl
(a) Onlgonepaie
C-.
[¢) Mlthrﬂﬁpﬂ.ﬂ'ﬂ
| 'd) None of the pairs



64,

70,

Consider the

KSPC-P-GSPO

>

s f‘u"nwi.nﬂ "

Statement-J - hhmﬂ““ :

Sumed Pipelin Wi

Persian Gulf ullnnn: g ratpy © Was the Provisional President of the

EIII'GP-E. “ﬂ.tum ¥ L&) b rl."_ . l"lll.“.l-'lﬂ"rlt M‘j hefore D |

Shipmeng, rasad took over 7 e
gfah'zﬂmr-”ll. n) Hnjngrlpﬂlnl.'hnr#‘
umed pipelineg COnneet (b f

the Mediterran the '

Which ° “nSea NS @y) © T Keamnamathan
1 i

, one of the following : d})  Dr. Sachchidifianda Sinhat

respect of the aboye statenm nfa I8 correet i, . R

&n 2.

(a) Both Statement.j : g reference to the Government of India
correct and St:ntedm stll"'E'I:Imv.u:;'-‘-[[ are Act, 1935, consider the following statements -
StﬂtEmEut—] t"'I-I m’-lﬂlﬂ L i:uprn:ldﬂg fﬂl’ lhl:' EEtﬂbii!hTﬂEﬂt of an

ndia Federation based on the umon

(b) Both Statement-] and S L1 llflﬂ.‘-n British Indian Provinces nnd
:—:‘I';':"t. . but  Statement.1y does ; Princely States, =

plain Statement-] 2.  Defence and Foreign Affairs were kept

(c) Statemant-l is co under the control of the federal
& rrect, but Etﬂtﬂ'munt-]] legislature,

(d) Statement-I is incorre t, but Stateme i whml:l :f the statements given above is/are
is correct s :

1 only
Consider the following statements - (b) 2 only
L. ThE_ Red Sea receives very little (e} Both1and 2
predipitation in any form. il (d) Neither 1 nor 2
2. No water enters the Red Sea from
I'i\'ﬂﬂ-_' . 73. Which one of the following is & work
Which of the statements given above isfare attributed to playwright Bhasa !
orrect ? ‘{})’l Kavyalankara
@J 1 only (b} Natyashastra
':_].-..b 2 ﬂ'ﬂi? M Mﬂlﬂlh-ﬁ"trn” L1 - |__'|,' {5 J_qu“r
L) Both 1 and 2 id) Maohabhashya
(d) Neither 1 nor 2
] 74. Sanghabhuti, an Indian Buddhist 'i‘l‘l--'f r
According to the Environmental Prﬂt&ﬂﬂﬂﬂ travelled to China at the end
Agency (EPA), whicm@ ]“mi fourth century AD, was the author
the largest source © sulphtli___ 3 commentary on .
emissions 7 = I
A : al Prajnaparamiia Sutic
(a) Locomotives using fﬂa:i s N
: sing fossil fue
(b) Ships using fos sarvastivada Vinaya
(¢) Extraction of metals from ores e ey
. ~————1 fuels .L.u,lfmu:rm:tm:ﬁ'_1
er plants using
() o i
(31-B)




7. As per Article 368 of the Constitution of India,
the Parliament may amend any provision of

UNESCO : h'“"““ﬂm
¥ Sh““li“iket.an
a, Rani-ki-Vgy :
3. Sacred Ensembjeg oo the |
4, :;iahu bodhij T Oysalyy
odhgaya Cmnp].: “
How man
included myz;:a ;hﬂ 850Y8. Dropertie, &
(a) Omnly one
Only two
(¢) Only three
d)  All four

the Constitution by way of :

1.

. fon

Addition
-

. Con
Sider the following enuntries

L laly

dapan
Nigeria :
South Hureu/
South Africa

W

2
4

4.
b

Which
Lo of t-hlu snbove eountries are frequently
oned in the media for their low hirth

» Or ageing population or declining
Population 7 :
|

(@) L,2andd4_
® toesds .
2and 4 o only L @
1)  <dandSonly =

78. Which of the following statements are correct

in respect of a Money Bill in the Parliament ?

1. Article 109 mentions special procedure
in respect of Money Bills.
2. A Money Bill shall not be introduced in

the Council of States.

3 The Rajya Sabha can eil her approve the
e
Bill or suggest changes bul cannot reject

it.
—

3. Repeal _
B Amendments to a Money Bill sugge:
Select the correct answer using the code given by the Rajya Sabha have 10 be accep!
below : by the Lok Sabha.
Select the answer using the code given below
(a) 1and 2only
(a) —landSomly
(h) 2and 3only
E _I E -!l "1!|
n@ ind 3 only
(@) 1and 3.only ) {9 and.das
@ 1. 2and 3 (d) L-S-andd
{-33-—5 II




ﬂ* W]lil:h of thﬂ fﬂu

id) 1. 2. 3 and 4

uwinu

matched in is/are
three servi g of *Quivaleng . W
> Jurvices of Indian Detygieq e s . ™
[ Army “—.—-—--_._______n“ forees 7
Tt aore. oy =
- |Brigadier | A4y 3 Ly
T madore | T
. Gﬂni:ﬂ Air Vice Vice Adei—
Marsha] ¢ Admiral
3. | Major e
Squﬂd.l"un Lieute
P LEHd.EH‘ Eﬂmm:nu;:r
lﬂli}ellfmu “[Group [ Capta;
1 Captain ptain
bolow - Er using the code given
(a) land4
(b} 1and3
() 2,83and4
(d) 3 only

The North Eastern Council (NEC) was
established by the North Eastern Couneil Act,
1971. Subsequent to the amendment of NEC
Act in 2002, the Council comprises which of
the following members ?

1. Governor of the Constituent State

2 Chief Minister of the Constituent State

3.  Three Members to be nominated by the
President of India_

4. The Home Minister of India

Qelect the correct answer using the code given

below :

(a) 1,2and3only

(b) 1,3 and 4 only
"

|5)/{ 2 and 4 only

Cons
ider the following statements

Sta tement.J -

Ift i
nl'::tt_lmtﬂ'i States of Amerien (USA) were to
on s debt, holders of US Treasury

to ids _‘"“ not be able to exercise their clnims
Feceive payment.

Statement-J] -

o4 USA Government debt is not backed by

any hard assets, hut only by the faith of the
Government.

Which one of the following is corregt in
respect of the above statements 7

Both Statement-1 and Statement-Il are
correct and  Statement-Il  explains
Statement-1

(b} Both Statement-! and Statement-1l are
carrect, but Statement-11 does not explinin
Statement-1

(e} Statement-I is correct, but Statement-1l 18
incorrect

{d) Statement-I is incorrect, bu! Statement-11
1= correct

Consider the following statements

Statement-l :
Syndicated lending spreads the risk ol
borrower default across mull iple lenders.

Staternent-11
The syndicated loan can be a fixed

amount/lump sum of funds, but cannot be a

credit line.

Which one of the following 1s correct in

respect of the above statements ?

f g}

F'-mh Statement-1 and Statement-I1 nre
correct  and  Statement-11 explains
Statement-l

(b)) Both Statement-1 and Statement-11 ar
correct, but Statement-11  do nol
explain Statement-1

(¢} Statement-1 18 correc
is incorrect

(d) Statement 1 18 1Ineorrect but Statement i1

12 POTTEeC]

(35-B)
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1 gs. Consider the follgyy;

of the digital rypeg 1“5 statements i Neveik
1. It 15 Emm
Reserve Banj} ismued by the
ali of India (Rpp) |
gnment with jtg licy
2. It appears ag % .
a linkilj :
balance sheet, ¥ on the RBI's
3. It is insured sy ‘
design inflation by its very
4 It s freely convertible againg
commercial bank 3
— " houey and cash.
W'h.u:h ﬂf the E't‘ﬂ"tmmﬂtﬂ. : i
correct ? Bl
(a) d-andSenly
(b) land3denly
@ 2 and 4 only
(d 1,2and4 ,

84. With reference to ancient India, Gautama
Buddha was generally known by which of the

following epithets ?

1. Nayafﬂta

2,  Shakyamuni

3. Tathagata

Select the correct answer using the code given
below : =
(a) 1only
(b) 2and 3only /

1,2and 3 [

(d) None of the above are epithets of

BS. i
Consider the following information -

_-‘_'-_'_—'—\—-__.-_
Archaeological State || [Description Il
Site ‘ | |
Chlndmkmuguhlﬂdilha llTrndm; |
= | Port town |
2. | Inamgaon Mnhn:uhtrl\ﬂhnl:n!ithn:ll
site .I.
3.| Mangadu Kersla |Megalithic |
3 gite .
4{Silibundam  |Andbra  |Rockemt |
\P‘mﬂeu‘n ‘:ave I|
| | shrines

In which of the above rows is the given

information correctly matched 7
———
_‘I.amlE
(bY 2and3
#-
(e 3Jand4
(d) lend4

86. Who of the following rulers of medieval India

F ] !
the Portuguese to build

gave permission to

fort al._Eh:H'P:ﬂ! \

Krishnadevaraya

%,

(h1 Narasimha Saluva

1ad Shah Tl

L Muhamn

y sl hdJlShllh

Gautama Buddha pf

(37-B)
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with reference ¢,

: Teveny

# gorawallis,  consige, o ection
patementa ©  followin,

U Ryotwari Sety]
revenue collection, 4}, mﬁmmt of
@ exempted from revenye phy'rn:::l inwm
ﬂf hﬂ'ﬂ hmeﬁtﬂ or 'ﬂa Camp

tural calamiy;
es

his Zamindari. =

e

Which of the statements given above ig/
correct 7

(a) 1only

@ 2 only

(¢) Both1land?2

@ Neither 1 nor 2

88. Consider the following statements :

ity

Eaﬂ' T than

2 Ipanishads were ﬂu@wﬂ‘d
2, Upanisha 3

-5

m‘ W'h.iﬂh oTne of the

the Puranas.
'.___-__——'—

Which of the statements

correct ?

d hove ig/are
given 8

(a) 1only

(b) 2 only

1[:'|

PC-P-GSPO

Both 1 and 2

Neither 1 nor 2

-

( 39

Consi
Sider the ’ﬁ:-ilml.ring Statemerq

L,

Indig i
18 & member of the International
Craing Couneil.

A country needs to be a member of the
International

Grains Council for

exporting or importing rice and wheat.

Which of the statements given above is/are
correct ?

1 only

{h] 2 Uﬂl}" 2
-
{¢) Bothland?2

{d) Neither 1 nor 2

e ] et
following was the lak

' ‘ultural Henta
inclusion in the IntangiblesGultural

List of UNESCO *
(a) Chhau dance
) Durga puja
@ Garba dance

(d) Kumbh mela




*  peen constitu the have | 94, Which
till December ment of India of the following statements
(a) Omne of India ?
(b) Two L Powers of the M
unicipalities given
() sl @ % iﬂ?ﬂﬂlﬁﬁmw:
(¢ Four : *f} 2. Emergency p-uﬁm .... given
0. momm at M""ﬂm | )
Jﬂ Conatitution,
{ MM 1992 3.  Provisions related to the amendment

Gmmhmhm
] 2 mﬂﬁnﬁm

1. Konkani_

2. Manipuri . , ]
3. Nepali s

4, Maithili

Select *EMMMmem
.."I

below :
(@) 122043
) 1,2and 4
(¢) 1,3and4
(d) 2,3and4

Consider the
Party !
Bharatiya Jana |
Sangh m

Socialist Party mﬁ

Eﬂnmﬁf Wﬂm

q.r-_.l:_ g Prﬂ.ﬂ.al'].

]

agnpalachari | \
{

{

e —

_ ,"-, M Narendra
| . Dev

How many of the above are

matched ?

Ewntlntpl :

|4_

i

correctly

Only one
Only two
Only three
All four

(al

(el

(d)
( 41

KSPC-P-GSPO

95. Which one of the following statements

Select the answer using the code given below :

(a) 1and?2only o a0
(b) Z-and3ounby LS oS-
LCJ lundEcml} E oyt

1 ianda

. il e
s

correct as per the s Constitution of India ?
el i S l——
(@ Inter-State trade and commerce is a
-_._-_-___-_._--—
Siate subject lﬂ!df]‘_‘EEEE___tEE List.

b Inter-State migration iz a State subject
under the State Lt~

(¢) Inter-State guarantine 18 A
subject under the Union Last. ®

({dy Corporation u gbject un

the State Last

Under which ot thi

96.

itution n{lnnu
!r-:ﬁ the l\.l

(Comst

|||.. IiII |

la) LTEICRE 1_-|

ib Article 16

(¢} Article 18
@F .

B




1. Permanent Chairman
of
. Chiefs of Stafr

three Service Chiefs

3. PrincipaliMilitary Advisor to Defence
Minister on all tri-service matters

. : ..,m answer using the code gi
bolows E given

-

(8 1,2and3
(b) land2 unl)?'/
(¢) 2and3only

(d) Tendlaonly

Operations undertaken hy the

upliftment of h ation in remote

areas to include M of their basic
e

needs is called :
‘_._-—__.

(a) Operation Sankalp
(b)  Operation Maitel
(¢) Operation Sadbhavana

(d) Operation Madad

KSPC-P-GSFO

® (¢) China and India

i-___‘____

Kazakhstan and Russian Federation

00. Which of the following statement- .

Ethics Committee in the Lok Sabna
m;-_rect?

1. Tnitially it was an ed-hoe Committee.

2 Only a Member of the Lok Sabha can
make a complaint relating to unethical

conduct of a member af the Lok Sabha

3. This Committee canno!

matier '-'n'll'llil.'l'l 15 i-'l'f_.l:.ll- Ll

o

Select the answer using the cod

ial 1 and 2 o
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